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ZAi: B(C5: AA7:
3 3 1 1
Z-33)x2-= 2537+ =) +=5x4+ - =
(4 3.3) x 7 53.7 6) 5 x 3
8(42—4.1)+2x2+33 = (55+56)x3-29=
1 3 2 1 1
—x20+4+4=—-2)= 35X 6+2+2(=+ =)=
5 (773 ) (5373
2x1o;5+4(1+4)= 1—3(1+28)=

' 6 6 2

2 1
46— 5(5 +5.8)= 10(5 ~37)+2x2+46=
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3 117 17
B 2—Z=(—)=(-5—
(= —33)x 1 (20) (520)
8(42—41);2><2+33—41—41
' e 10 10

4
- =1
3

1 302 1
—x20+4+4(2 - 2)= -
5 G373 3

1 & 2
2x 105+ d(= +4)= 2= = 20=
05+ 4 +4) = 3 =203

2 416 1"
4.6—5(2+5.8) = (—2) = (-7 —
6- 5 +58) = () = (2715

HIC5: A7
| 1 233 2
2537+ =)+5x4+ = —=T7]=
5(3.7 6) 5x 3 3 773
152 2

55+5.6)x3-29=— =30=
( ) 5 5

I 1 113 3

1 1 146 11
— — _—|-2. =(———) = (—9)—
¢ 3G T2 =0C1)= %)

436

1 1
10(5 =3.7)+2%x2+46= (———) = (-29—
0G ~37)+2%2+46=(-=2) = (-297)
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